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1. Please give deiinitions of the Foltevo g 00000

(1) Availability {0) Stagnation propetty

(2) Otto cycle (7) Quarsicquilibrivun process
(3) Dew point (8) Isenlropic process

(4) Wet-bulb temperature (V) Throtling process

(5) Principle of increase of enti)y (10) Incquality of Clausius

2. Can the ideal-gas relation di = ¢ 7 be applicd to o constant-pressuie process, or is it restricted

to a constant-vohune process? BEaplain, ( 10%0)
3. Please plot and explain the P-v and T diagram for the Stirling cycle. ( 15%)

4. Derive the rélatiou cp-cy= R torideal gases (109 ’o)

5. Arefrigeration cycle operating between two (. Heat transfer occurs between two thermal
reservoirs receives enetgy (f¢ Tiota a cold cnergy reservoirs at lemperatures of 300 and
reservoir at 1= 250K and rejects cnerpy 1000 K. Treating the two thermal energy
Oy to a hot reservoir at 7= 3004 Lor cach reservoirs plus the vegion through which the
of the following cases determine whether heat transfer occurs as a single closed
the cycle operates reversibly, ireveizibly, system, determine («) the rate of entropy
or is impossible: (20%) production and (b) the rate of entropy

change, in k}/(IX + min), for the system if the

(1) Q¢ = 1000KJ, Wepuem250 KJ heat transfer rate between the two reservoirs
(@) Qc = 1000KJ, Qpu= H50KJ is 1000 kJ/min. (15 %)
(3) Qn = 150K,  Weyus=250 KJ
(4) B(coeflicient of performance) = 5.1 ‘7:?;&’('}‘()“\
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